
Serial No.8044 - 
Checked By:

     Tech
     Date

Box 1 - NAVPILOT 511 Wt:  23 lbs.  Dim:  13"x 19"x 25"
Part No. Description Quantity Yes Remarks

1 FAP5002 Processor Unit 1
2 000-157-482 Fuse FGMB 4A 2 sub SP64-1401
3 000-570-325 Plastic Band 150mm 40 sub CP64-02210
4 000-148-507 Cable Assy. 15M with Plug 1 "
5 000-162-608 Tapping Screw M5 x 20 4 "
6 IME-725-00Z Installation Manual 1
7 FAP5011 Mini Control Unit 1 sub box 1
8 000-149-727 White Plastic Cover 1 attached
9 OME-725-01Z Operator's Manual 1
10 000-159-681 Cable Assy 10M Pigtail w/ 1 Plug 1
11 000-147-017 Terminator Plug 1 sub SP64-01001
12 000-864-126 Flat Washer M4 4 mounting kit
13 000-863-106 Hex Nut M4 4 "
14 000-864-256 Spring Washer M4 4 "
15 000-147-539 Threaded Rod M4 x 50 4 "
16 C72-003-02Z Mounting Template 1
17 OSE-725-01Z Operator's Guide 1

18 FAP6112 Rudder reference unit w 15M cable 1
19 100-328-060 500mm Threaded Connecting rod 1
20 009-001-180 Rod End Assembly (2 each) 1
21 100-328-110 Spacer, 11 mm oa 1
22 000-158-853 Hex Bolt, M6 x 40 2
23 000-158-854 Flat Washer M6 6
24 000-158-855 Spring Washer M6 2
25 000-158-856 Hex Nut, M6 6
26 000-158-850 Self Tapping Screw M4 x 20 3

27 PG500R Sensor Unit
28 PG500 Main Sensor Unit 1
29 000-114-805 Fuse FGMB 1A 2 sub SP64-01301
30 000-802-080 Tapping Screw M4 x 16 2 sub CP64-02101
31 000-125-237 Heading Cable With Plugs 1
32 000-145-612 Cable Assembly 2M with Plugs 1
33 OME-725-50Z Operator's Manual 1

rev 9-3-08

PACKING LIST FOR NAVPILOT 511

NAVPILOT 511

For Internal Use Only

Page 1 of 1


